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http://rweb.tmu.edu.tw/upload/data.php?dir=2&data=%E7%AF%84%E4%BE%SBA-3
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prop.test (x, n, p = NULL,

alternative = c("two.sided", "less", "greater"),
conf.level = 0.95, correct = TRUE)
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# 3 B r%vm] A-3.csv > 2 12> PROP_data 73 #l4h %
PROP_data <- read.csv(file = "E:\DEMO\\§ & A-3.csv", header=F)
# #-PROP_data F i % 03 3 $8c4 9B % & MALE 2 2 FEMAL
names(PROP_data) <- ¢("MALE" , "FEMALE")
# %3 TR 2% > 24 MALE_DATA 7R #%
MALE DATA <- ¢(PROP_data[,"MALE"])
# R AR I PFENIRERRY -ﬁm:;:ﬁc
USE COUNT <-sum(MALE DATA,na.rm=T)
#RP AR IN TR R PRI R K
num <- sum('!is.na(MALE DATA))

# % proctest éhdp 4 - BT FRPER -‘ﬁfiﬁt\ FRAAE - GRIPFLEETTR
BITH - A bR

prop.test(tUSE_COUNT, num, p = 0.3,
alternative = c("greater"),

conf.level = 0.95, correct = TRUE)

(5) RAeFHGFTES

1-sample proportions test with continuity correction

data: WUSE_COUNT out of num, null probability 0.3
X-squared = 6.2891, df = 1, p-value = 0.9939
alternative hypothesis: true p is greater than 0.3
a5 percent confidence interval:

0.2005121 1.0000000

sample estimates:

P
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prop.test (x, n, p = NULL,
alternative = c("two.sided", "less",
conf.level = 0.95, correct = TRUE)

greater"),
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(3) R A%\

# ® B T§ 6] A3.csv > & 7 122 PROP_data ehE4h %

PROP_data <- read.csv(file = "E:\DEMO\\# ] A-3.csv", header=F)

# 4 PROP_data ’P‘y}i;};&,;‘; 5 B 8L UB Z & MALE 2 2 FEMAL
names(PROP_data) <- ¢("MALE" , "FEMALE")

# -9 a4 BFRBE % > 24 MALE_DATA 1% FEMALE DATA 1 74 %
MALE DATA 1 <-c¢(PROP_data[,"MALE"])

FEMALE DATA 1 <-c¢(PROP_data[,"FEMALE"])

R 4G AN P E NI LEBR R Jﬂ"'mfx& » A %] % outcomel £ outcome2
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outcomel <- sum(MALE DATA 1,na.rm=T)

outcome? <- sum(FEMALE DATA [,na.rm=T)
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nl <- sum(!is.na(MALE_DATA 1))
n2 <- sum(!is.na(FEMALE DATA 1))

#oaEfE i RAp 4P 2 ¢ hx & onaue > R TG varl & var2 o @ ovarl 4§ fe A

BOReRR ﬁ:’(ﬁ( vvar2 & § e M add iR A

varl <- c(outcomel,outcome?2)




var2 <- ¢(nl,n2)

# &% proctest ihdp & » %3 FRPE R ‘Fk{:’iis’c\ FRAA K - TR TEREETR
BEFE- KRBT

prop.test(varl, var2, alternative = c¢("two.sided"), conf.level = 0.95, correct = T)

(4) RARZNHITLEE

> prop.test{varl,var2,alternative = c("two.sided"),
+ conf.level = 0.95%, correct = T)

2-sample test for equality of proportions with continuity
correction

data: warl out of wvar2
¥-squared = 20.242, df = 1, p-value = 6.825e-06
alternative hypothesis: two.sided
95 percent confidence interval:
0.09491155 0.21937417
sample estimates:
prop 1 prop 2
0.2371429 0.0800000
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(Spearman’s rank correlation coefficient)
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(1) FH kR
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(3) R4 Fmmm

(2]

cor.test (X, y, alternative = c("two.sided", "less", "greater"), method = c("pearson”, "kendall",

"spearman"), exact = NULL, conf.level = 0.95, continuity = FALSE, ...)
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exact= #_F 3+ ¥ Kendall's tau & ¥_Spearman's tho #1p &

conflevel % 3 €3 ¥ % [ enif -k

correct & ¥_% i {7 Kendall's tau & ¥_Spearman's rho i § 413 &
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(4) R Az;% 78

(1) A & 2 49 i % B (Pearson’s correlation)z_ R 25\ 5

# 3B r?‘:f}nj B-d.csv 0 i P 32 * pearson _data (LMK
pearson_data <- read.csv (file = "E:\DEMO\\# i B-4.csv", header=F)
# #-pearson_data F 4% chd B Rl YB £ L railway 11 2 guest
names(pearson_data) <- c("railway" , "guest")
# 0% cortestehdp 4 EFARARNETHEAPELZ AR 29N RiF g T
pearson_r = cor.test(pearson_data[,"railway"], pearson_data[,"guest"],

alternative = c("two.sided"),

method="pearson",exact=T,

conf.level = 0.95, continuity = FALSE)

2) A F & ¥ % 4p M % Bc(Spearman’s rank correlation coefficient)2. R #2358

# ¥ rﬁf‘af:ﬂ] B-6.csv ;> i ® i# * spearman_data P B R
spearman_data <- read.csv(file = "E:\DEMO\\4# &] B-6.csv", header=F)
# #%-spearman_data FH 4% ¢h3d BREA BB £ Z hit 122 run
names(spearman_data) <- ¢("hit" , "run")

# % cortestehfp & P REBRNHEFFRBABFERILLHAFEE Rl hBR R
z

spearman_r = cor.test(spearman_data[,"hit"],spearman_data[,"run"],
alternative = c("two.sided"),
method="spearman",exact=T,

conf.level = 0.95, continuity = FALSE)
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#AREIERATEES BREZITTH
plot(x=pearson_datal[,"railway"], y=pearson_data[,"guest"],
main="Scatter Plot for pearson",
xlab="railway",
ylab="guest")
#HPETEAPEES BRELIICH Wt B0 LBPRI AP FHANE R

abline(Im(pearson_datal,"guest"]~pearson_data[,"railway"]))

(5) R ﬁi}\‘ JL T ~”

a. R ﬁl 24 4p R ff"-ﬁ{i # f;“i%%

> pearson_r
Pearson's product-moment correlation

data: pearson_datal[, "railway"] and pearson_datal[, "guest"]
t = 3.5256, df = 5, p-value = 0.01682
alternative hypothesis: true correlation is not equal to 0
95 percent confidence interval:
0.2510914 0.9765232
sample estimates:
cor
0.8444714
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> Spearman_r
Spearman’s rank correlation rho

data: spearman_datal, "hit"] and spearman_datal, "run"]
5 = 64, p-value = 0.00466
alternative hypothesis: true rho is not equal to 0
sample estimates:

rho
0.7762238
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2. A F# 0 Statistical hypothesis testing > 4t :

https://en. wikipedia. org/wiki/Statistical hypothesis_testing

3. A7 # - Correlation and dependence > it :

https://en. wikipedia. org/wiki/Correlation_and dependence
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